- B H IR

BfEHA . A0 34E10H 148 (OK) B8 MY — BRI
Bk FHEE N T ¢ BR SN 41N (BME 32 - Zetk i 9N)
HDCP E R :
a— ouT IN 1/1
FNERZHE © 27 m X UNSWIE)  « FE# (K& WIE) FIRI . 4Fn 34E10A 16 H (1)
JIE 57 SN 4 oUT IN GROSS | HDCP NET fiwi &

1 L | /NEF K 40 41 81 16.0 65.0 |[‘EAY

2 N7 | A it 50 51 101 36.0 65.0 | HAY

3L HE KT 44 44 88 | 22.0 66.0 EAY

4 N7 | TR 7 47 45 92 26. 0 66.0 ‘HAHY

5 {if | A SERE 40 41 81 14. 0 67.0 BHY

6 fir | Kb & 40 41 81 14.0 67.0 ‘HAV

7 0L | =% EAT 40 42 82 15.0 67.0 | EAY

8 i | Iy BT 48 45 93 25.0 68.0

9 I | HH K— 39 36 75 6.0 69.0

10 A7 | gy Fnz 45 39 84 15.0 69.0

11 A7 | ihm Bl 42 47 89 20.0 69. 0

12 L | PR % 43 44 87 16.0 71.0

13 7 [{EH AR 49 53 102 31.0 71.0

14 /7 | FH EkE 42 40 82 10.0 72.0

15 7 | B9 EHE 48 49 97 25.0 72.0

16 {7 [/MAJE BAY 47 53 100 | 28.0 72.0

17 47 | &l o 47 44 91 18.0 73.0

18 fiz | Al EHE T 55 46 101 28.0 73.0

19 A7 | [HHE &’ 56 53 109 36.0 73.0

20 7 [{ifA& IEA 44 41 85 11.0 74.0

21 N | &R F5—RR 46 43 89 15.0 74.0

22 N | B bt 42 47 89 15. 0 74.0

23 fir | =% fn+ 46 48 94 19.0 75.0

24 7 | JTRE ARE 50 51 101 26. 0 75.0

25 I |l st 44 45 89 13.0 76.0

26 fir | TH H#35 47 51 98 22.0 76.0

27 ff | EH b 49 57 106 30. 0 76.0

28 fiL |FAA WpFr 61 51 112 36.0 76.0

29 {7 | B4 o 43 44 87 10.0 77.0

30 fir | FH BH 48 39 87 10.0 77.0

31 L | BEAS i1 49 48 97 19.0 78.0

32 L | FHH B8 48 49 97 19.0 78.0

33 A7 /A A 56 58 114 | 36.0 78.0

34 AL | PP Z2im 47 47 94 15.0 79.0

35 . | T F5H 47 54 101 21.0 80.0

36 fir | F1E EA 57 46 103 23.0 80.0

37 ff |BRH KA 46 52 98 15.0 83.0

38 L | &R (= 45 43 88 1.0 87.0

39 L | &7 1E 49 56 105 18.0 87.0

40 A7 | AT T3¢ 50 59 109 22.0 87.0

41 A7 |FTH 58 58 116 25.0 91.0




